AC500Pro + ATR

(n272n bIN) ATR

European ,‘E::';";.*. 2 Fire Resistance :r:-'ﬁﬁlj?_: CDIIEQE
e Classification nada
A roval 0756-CPD-0575 WA Al
PP o R120 report in accordance with ETA
B56920 11'12 Iljn voc CMSSKIDN‘
FOR USEWITH i NN @
POTABLE WATER e Onn) | [axaon I

Brandname of CHEMFIX Pure Epoxy 1-1

R

(25-21p2) TTI2 J21Y'7 DrOBIY N'72D

NNV NIr¥p'79x
b2 -

opl7a .

DX

NIDX e

0""9XND

I0PIOX PIAT -

compressive strength: 88.56 ¢
flexural strength: 52.79
density:1,42kg/dm3 .
E-Modulus: 7267 ¢

VOC Content: A+ Rating -

1272170 |1ID27 TVID = I:l

| M36 | M33 [ M30 | M27 | mM24 | mM20 | M16 | M12 | m10 [ M8 | DI DI |
633.7 | 531.1 | 404.0 | 289.1 | 187.8 | 187.8 | 1428 | 83.7 | 749 | 50.5 Nrk,cone
527.8 | 447.8 | 355.7 | 256.0 | 170.6 | 164.2 | 130.7 | 71.3 | 55.1 | 34.0 Nrk adh noYy 793 0Dy
653.6 | 555.2 | 448.8 | 367.0 | 2825 | 196.1 | 125.6 | 67.4 | 46.4 | 29.2 Nrk steel "9 -
326.8 | 277.6 | 224.4 | 183.5 | 141.2 | 98.0 | 62.8 | 33.7 | 23.2 | 14.6 Vik nm %
2932 | 2488 | 1976 | 1422 | 948 | 912 | 726 | 396 | 306 | 189 KN Nrd n9'7y E
2614 | 2221 | 1795 | 1468 | 113.0 | 784 | 50.2 | 270 | 186 | 11.7 Vid mm nony = E
2094 | 177.7 | 141.1 | 101.6 | 67.7 | 65.1 | 51.9 | 283 | 21.9 | 13.5 Nrec n9'7y X7nIn only g
186.7 | 158.6 | 128.2 | 104.9 | 80.7 | 56.0 | 359 | 19.3 | 13.3 | 8.4 Viec nm nnw oniy 5
451.7 | 378.6 | 288.0 | 206.1 | 133.9 | 1339 | 101.8 | 59.6 | 534 | 36.0 Nrk,cone E
2639 | 2239 | 177.8 | 128.0 | 853 | 82.1 653 | 356 | 275 | 170 Nrk,adh n9'7y 7w 0nly E
653.6 | 555.2 | 448.8 | 367.0 | 2825 | 196.1 | 1256 | 674 | 464 | 29.2 Nrk steel "9 - @
3268 | 277.6 | 2244 | 1835 | 1412 | 98.0 | 628 | 33.7 | 232 | 146 Vik nm =
1466 | 1244 | 988 | 71.1 | 474 | 456 | 363 | 198 | 153 9.5 kN Nrd na7vy g
2614 | 222.1 [ 1795 | 146.8 | 113.0 | 784 | 502 | 270 | 186 | 11.7 Vid nmm [an oD -
104.7 | 889 | 706 | 50.8 | 339 | 326 | 259 | 141 109 6.8 Nrec noa'7y X700 only
186.7 | 158.6 | 128.2 | 1049 | 80.7 | 56.0 | 359 | 193 | 133 84 Vrec nmm nn'w only
540 | 480 | 400 | 320 | 240 | 240 | 200 | 140 | 130 | 100 hnom 781011 MIpNn poiy
161.2 | 167.3 | 1276 | 92.7 | 490 | 415 | 134 7.1 5.6 35 ml TIN9 25% 7713 1IN7 p27 NN
24 23 3.1 42 8.0 9.4 29 54 69 110 7' 400 NM9I9Y DY D1IN 7¢ N2WIN NINJ
633.7 | 531.1 | 404.0 | 289.1 | 187.8 | 142.8 | 83.7 | 583 | 43.1 29.6 Nrk,cone
527.8 | 447.8 | 355.7 | 256.0 | 1706 | 136.8 | 914 | 56.0 | 383 | 23.7 Nrk,adh N7y 7v3 0nly E
425.0 | 347.0 | 280.0 | 230.0 | 183.6 | 126.7 | 81.6 | 438 | 30.2 | 19.0 Nrk steel "IN a g
2125 | 1735 | 1425 | 1150 | 880 | 61.0 | 39.0 | 21.0 | 150 | 9.0 Vik nm =| 5
2833 | 2313 | 186.7 | 1422 | 948 | 760 | 50.8 | 29.2 | 20.1 127 kN Nrd nav7y E E
170.0 | 1388 [ 1140 | 920 | 704 | 488 | 31.2 | 168 | 120 7.2 Vid mm [an oD = E
2024 | 1652 | 1333 | 101.6 | 67.7 | 543 | 363 | 209 | 144 | 9.0 Nrec n9'7v X770 ony E
1214 | 991 814 | 657 | 503 | 349 | 223 | 120 8.6 5.1 Vrec mm nn'v ony
540 | 480 | 400 | 320 | 240 | 200 | 140 | 110 90 70 hnom 7811011 NIpNN PRIy
425.0 | 347.0 | 280.0 | 230.0 | 1836 | 126.7 | 81.6 | 438 | 30.2 | 19.0 ml N9 25% 7712 N7 2T NN
24 23 3.1 42 8.0 1.3 41 69 100 | 120 7’0 400 NM9I9Y DY D1IN '7¢ NJWIN NINJ
40 38 35 32 28 24 18 14 12 10 o do | nmpaop |
50 50 40 40 40 40 30 30 20 20 NITR PRIY7 12YD Y7X0'D (102 121y E Jié
360 330 300 270 200 150 80 40 20 10 Nm Tmax | 17X0'0pN NIpPNN DININ




N1 Nlpna pnly 197 [IDAN AXPD D'PNINDID'AYA 12 0PN n'7ap

200 170 150 140 130 110 100 90 80 70 heff [iyn mpnn poiy
400 340 300 280 260 220 200 180 160 140 Sopt D22IYN |12 '7XN'DOIX PNIN
100 85 75 70 65 55 50 45 40 35 mm Smin D210 127X PNIn
200 170 150 140 130 110 100 90 80 70 Copt |ID2N NXPR '7XDIDDIX PNID
100 85 75 70 65 55 50 45 40 35 Cmin |ID2N NXPR *7XDID PNID
540 500 480 450 400 350 300 280 240 220 heff Iy mpnn pniy
1080 1000 960 900 800 700 600 560 480 440 Sopt DIYN |2 '7XD'DSIX PN
270 250 240 225 200 175 150 140 120 110 mm Smin 0'2IYN 2 '7X0''0 PN
540 500 480 450 400 350 300 280 240 220 Copt |IDN NXPN F7XD'DDIX PRIN
270 250 240 225 200 175 150 140 120 110 Cmin [ID2N N¥PN *7XDD PN
.N917W2 P DDA DI DM7XNIDDIND D'PNINA .D'ONIY NNNDNA 021 DY7XNI'DA DIPRINA
a1y 732 DIy 197 awn7 vt Y7RDID9IX PNAN 'Y N1 N7120N 21wNYT
niy" 197 |alyn YN
("ETAG Bonded Anchor" |jpn '97 nbwain 2w'n Niy)
nnyn
NN'W/0Y7NIN/0YIN'Y 0'oNIY '9'7 X71 design |2N '0NIY '97 0121IYN NX D'AVWNN ETAG-N '97 -
D'AYND |20 INX7,[21IVN 0N NYp 1020 011 ,"Pull-out” N9'7w1 7w 1210 3 '97 2Iyn NX DAWND -
A71WnNN 7N NX D'PTIA 91021 pry-out-1 AIYN ININ NY'MP ,|IDAN N¥P N7'TI2 7WI 10 3
n9'7wa 7w -1
Nrdp=Nrdp.fs. fr.fan.fan ~ "COMBINED PULL-OUT" 197 w3 1.1
. Pull-out N9'7wa iy 7w 7301 2N PTIN N°rd,p
I8 [ID2N 210 NY9WN OTPN f8
1 B MIpPNN PRIY NYOWn 0Tpn fr
omyn apnmnyswnotn | fan
[Ipan n¥pn pnn nyswnoTpn | fRn
M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 [aynaio N°rd,p
540 480 400 320 240 200 140 110 90 70 mm hnom MID79ND | |ID22I0
2932 | 2488 | 197.6 | 1422 | 948 76.0 50.8 311 213 13.2 2D WA - PITO X7 |ID2 24/ 40°
1613 | 1418 | 1186 | 924 61.6 54.0 40.1 27.1 20.0 13.2 D' NN - PITO X7 102 -
1906 | 161.7 | 1284 | 924 61.6 49.4 33.0 20.2 13.8 8.6 KN 20T - PITO X7 |ID2 437 60° ’%
1349 | 1194 | 988 | 739 | 512 | 433 | 300 | 190 | 134 8.6 D' NN - PITO X7 |ID2 2
1349 | 1169 | 94.8 711 48.3 395 26.9 16.8 1.9 75 2D WA - PITO X7 |ID2 60°/ 72° =
123.1 | 1095 | 88.9 66.8 46.5 38.0 259 16.2 11.5 75 ' NN - PITO X7 |Ib2
1466 | 1244 | 988 711 474 | 380 254 15.6 2D W2 - PITO 1D 28/ 40°
80.6 70.9 59.3 46.2 30.8 27.0 20.1 13.5 D'NN - PI70 |12
95.3 80.9 64.2 46.2 30.8 24.7 16.5 10.1 ) _ ~ QDY - PITO |ID2 43/ 60° §_|
67.4 59.7 49.4 37.0 25.6 21.7 15.0 9.5 N'NN - PIT0 102 ',E_
67.4 58.5 474 35.6 24.2 19.8 13.5 84 QDY - PITO |ID2 60%/ 72°
67.4 58.5 474 35.6 24.2 19.8 13.5 84 D'NN - PI70 |12
20d > heff > 4d Dy (mm) 7111 NIpNN PRy | hnom | - heff
- hnom
C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 C15/20 [ID2N 210
1.1 1.09 1.08 1.06 1.04 1.02 1.00 0.98 fa




(]
Nrdc=Nrdc.fs.fan.frn

[Ib2n onip 97 '7wd 1.2

[N n¥pn pnm nyswnoTpn | fan

[ID2N 0NIP '97 N9*7WA PIYN '7XINI1 [N PTIN N°rdc

(mm) piyn mpnn pnily heff

[ID2N 210 NYawn DTpR fg

oy apnmnyawnoTm | fan

Nra,c=7,2.25% . (hef) "/ 1500 pITo D27 N°rd,c=10,1.25% . (he)"” / 1500 PITO XY 1027
Nord,c
200 170 150 140 130 110 100 90 80 70 mm heff
95.2 746 61.8 55.8 499 388 33.7 28.7 24.1 19.7 ) PITO XY 102
67.9 532 44.1 39.8 356 27.7 240 205 172 14.1 N 170 [ID2
540 500 480 450 400 350 300 280 240 220 mm heff
4225 | 3764 | 3540 | 3214 | 2693 | 2204 | 1749 | 1577 | 1252 | 1099 PITO XY 102
301.2 | 2683 | 2524 | 229.1 1920 | 157.1 1247 | 1124 89.2 783 KN 2170 102
oo (K s C50/60 C45/55 C40/50 €35/45 €30/37 €25/30 €20/25 (D27 210
2 155 148 141 134 122 1.10 1.00 fg
01y 2 2 PN NYawn 0T fan
540 480 400 320 240 200 140 130 110 100 90 70 |het —
053 0.53 0.54 0.55 0.56 0.58 061 0.62 0.64 0.65 0.67 0.71 60
053 0.54 0.54 0.55 0.57 0.59 0.63 063 0.66 0.68 0.69 0.75 70
0.54 0.54 0.55 0.56 0.58 0.60 0.64 065 0.68 0.70 0.72 0.79 80
0.54 055 0.56 0.57 0.59 061 0.66 0.67 0.70 0.73 0.75 0.82 90
0.55 055 0.56 0.58 0.60 0.63 0.68 0.69 073 0.75 0.78 0.86 100
0.56 0.56 0.58 0.59 063 0.65 0.71 0.73 0.77 0.80 0.83 093 120
0.56 0.57 0.59 061 0.65 0.68 0.75 0.77 0.82 0.85 0.89 1.00 140
0.58 0.59 0.61 0.64 0.69 073 0.82 0.85 091 095 1.00 180
0.59 0.60 0.63 0.66 0.71 0.75 0.86 0.88 0.95 1.00 200
0.62 063 0.66 0.70 0.76 0.81 095 0.98 1.00 250
0.64 0.66 0.69 073 0.81 0.88 1.00 1.00 300
0.69 0.71 0.75 0.81 092 1.00 400
073 0.76 0.81 0.89 1.00 500
0.78 0.81 0.88 0.97 600
0.82 0.86 0.94 1.00 700
0.87 0.92 1.00 800
0.94 1.00 960
1.00 1100
faN=05+ ——— 2P VoW oD AN TIN7 D'OTPRN DX 719307 Wt *
2 4 hett DIy
JPOINIX 1IN |1 197 TN IX
Xipw 2 pmp $1-2 fan = fansi2. fans1-3 @ G
X2 ]y ' ’




(ID2N NP PNIN NYBWN DTN fRN

540 480 400 320 240 170 140 130 110 100 90 70 heff c
0.72 0.72 0.73 0.73 0.74 0.76 0.77 0.78 0.79 0.80 0.81 0.84 50
0.73 0.73 0.74 0.74 0.76 0.78 0.80 0.81 0.83 0.84 0.86 0.90 70
0.73 0.73 0.74 0.75 0.77 0.79 0.81 0.82 0.85 0.86 0.88 0.93 80
0.73 0.74 0.75 0.76 0.78 0.81 0.83 0.84 0.86 0.88 0.90 0.96 90

0.74 0.74 0.75 0.76 0.78 0.82 0.84 0.85 0.88 0.90 0.92 0.99 100
0.75 0.75 0.76 0.78 0.80 0.85 0.88 0.89 0.93 0.95 0.98 1.00 125

0.76 0.76 0.78 0.79 0.83 0.88 091 0.93 0.97 1.00 1.00 150
076 0.77 0.79 0.81 0.85 091 0.95 097 1.00 175
0.77 0.78 0.80 0.83 0.87 0.94 0.99 1.00 200
0.79 0.80 0.83 0.86 091 0.99 1.00 250
0.81 0.83 0.85 0.89 0.95 1.00 300
0.85 0.87 0.90 0.95 1.00 400
0.89 091 0.95 1.00 500
092 0.95 1.00 600
0.96 1.00 710
1.00 800
fan=07+02 —— 0MTPNN NX 7'9207 W &
el 011N 737 TN IX TINT |

12N N2 Iy XDATY

G
(mm) |1b2n NP TV PNN | C | fan = fny - fanz < =
4. i@
|02 NP [ i
Nrd,s = Nrk,s/ Ysn jpiynnina 7wl 1.3
el = = M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 As
iy i - 849.6 721.8 583.5 477.3 367.2 254.7 163.2 87.6 60.3 38.1 mm’
kN NI’d,S
M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 [ty 210
2096 | 1780 | 1439 | 1177 90.6 62.8 403 21.6 14.9 9.4 ST37 179
283.2 | 2406 | 1945 159.1 1224 84.9 544 29.2 20.1 12.7 5807179
4357 | 370.1 299.2 | 2447 | 1883 130.7 837 449 309 19.5 8.8N179
606.9 | 5155 | 4164 | 3410 | 262.1 182.1 116.4 62.6 43.1 27.2 1090179
3059 | 259.8 | 210.1 171.8 | 1321 104.8 67.2 36.0 248 15.6 (A4) 316 nnON1

ST37 NT79 12'0 NIDID 7V DITIDON ,XIX2 .N9IN'X1 N'DITIDO N1'N 5.8 nT79 *

Nrd = mil‘l {Nrd,c 7 Nrd,p 7 Nrd,s} :nBIVWJ '7W3 nin'o
Nrd > NI'N7 11X 197w [2IYN 7Y 7¥9INN [2N 0DIVN




mmaw -2
- = Vrd,s =Vrk,s/ Ysv Jynmina '7vwd 2.1
kN Vrd’s

M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 [y 210

125.8 102.7 844 68.1 52.1 36.1 23.1 124 8.9 53 ST37 07179

170.0 138.8 114.0 92.0 704 48.8 31.2 16.8 12.0 7.2 5.8N179

2614 2221 179.5 146.8 113.0 784 50.2 27.0 18.6 11.7 8.8N179

283.2 288.7 2159 191.0 146.8 101.9 65.3 35.1 241 15.2 1090779

204.0 166.6 136.8 1104 90.5 62.8 40.3 216 14.9 9.4 (A4) 316 npoINn

ST37 NT79 11'A NIVIN 7w DITIDON ,XIX2 .N91N'X2 N'DATIDO N1'N 5.8 nT79 *

Vrde=Vrdc.fe.fyv.fary Iban n¥p 197 7w 2.2

ADIT 0TIND QY WP 1IX'Y7 X700 ,NXPAN DNXP TIXD O'PNID NFIX 2 Y NTNa

T2 YN 7Y 700 2N pTin Vordc

102N 210 NYDWN DTN fs

(102N AP I1217V9IBA NIDA I P Nt nyswn 0T | fyy

DIV 2 PIN0IIDAN A¥pR pmn nyswa oTpn | fary

(mm) jpiynoip d

(mm) aiyn mpnn pniy heft

(mm) 12N N¥P TY PRN d
a=0,1. (he/0)** Vorde=[ 24.d% he .25 .c"*1/1500 PITO X7 ID27
B=0,1.(d/0)™

kN Vord,c
M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 [y a0
540 480 400 320 240 240 200 200 140 140 110 130 90 100 70 | hest C
16.6 14.7 127 10.8 9.1 8.6 8.0 7.5 6.7 6.2 5.8 5.8 53 5.2 4.9 50
19.2 17.3 15.1 13.0 1.1 10.5 9.8 93 83 7.8 73 73 6.8 6.6 6.2 60
220 19.9 17.5 153 131 12.5 1.7 1.1 10.0 9.4 8.9 8.9 83 8.1 7.6 70
24.8 226 20.0 17.6 15.3 14.6 13.7 13.0 11.8 1.2 10.6 10.6 9.8 9.7 9.1 80

27.7 254 226 20.0 17.5 16.7 15.8 15.0 13.7 13.0 12.3 12.3 115 113 10.7 90

30.7 28.2 253 225 19.8 18.9 17.9 171 15.6 14.8 14.1 14.1 13.2 13.0 12.3 100

385 35.6 322 29.0 25.8 248 236 226 20.8 19.8 18.9 19.0 17.8 17.6 16.7 125

PITO X7 |12

46.5 43.3 395 358 321 31.0 29.6 284 26.3 25.2 24.1 24.2 228 225 215 150

55.0 514 | 472 43.0 38.8 375 36.0 34.6 322 309 29.7 29.7 28.2 278 26.6 175

63.7 59.8 55.2 50.5 459 444 42.7 411 384 36.9 356 356 338 334 32.0 200

82.1 775 72.0 66.4 60.8 59.0 56.9 55.0 51.8 49.9 48.2 48.2 46.0 45.5 43.7 250

1015 | 96.2 89.8 834 76.9 74.8 723 70.0 66.1 63.9 61.9 61.9 59.2 58.6 56.5 300

1219 | 1159 | 1087 | 1014 | 939 915 886 | 86.0 815 78.8 76.5 76.6 734 727 70.2 350

1432 | 1366 | 1285 | 1203 | 1119 | 109.1 | 1058 | 1028 | 97.8 94.7 92.0 92.1 88.5 87.7 84.8 400

1653 | 158.0 | 149.1 | 140.1 | 130.7 | 1275 | 1239 | 1206 | 1149 | 1114 | 1084 | 1085 | 1044 | 103.5 | 100.2 450

188.2 | 180.3 | 1706 | 160.6 | 1503 | 146.8 | 1428 | 139.1 | 1328 | 129.0 | 1256 | 1257 | 121.2 | 120.1 | 1164 500




Voide=[17.d% heit. 25" .c"* 1/ 1500 7170 1027

KN | Ve
M36 | M33 | M30 | M27 | M24 M20 M16 M12 M10 M8 pivnaio
540 480 400 320 240 240 200 200 140 140 110 130 90 100 70 | heff
117 | 104 | 9.0 7.7 6.5 6.1 5.7 53 4.7 44 4.1 4.1 3.8 3.7 34 50
136 | 122 | 107 | 92 7.8 74 7.0 6.6 59 5.5 5.2 5.2 438 47 44 60
156 | 141 | 124 | 108 | 93 8.9 83 79 7.1 6.7 6.3 6.3 5.8 5.7 54 70
17.6 16.0 14.2 12.5 10.8 10.3 9.7 9.2 84 79 7.5 7.5 7.0 6.8 6.4 80
197 | 180 | 160 | 142 | 124 | 118 | 112 | 106 | 97 9.2 8.7 8.7 8.1 8.0 7.6 90
218 | 200 | 179 | 159 | 140 | 134 | 127 | 121 | 111 | 105 | 100 | 100 | 94 9.2 8.7 100 a
272 | 252 | 228 | 205 | 182 | 175 | 167 | 160 | 147 | 140 | 134 | 134 | 126 | 124 | 118 125 E
330 | 307 | 280 | 254 | 228 | 219 | 210 | 201 | 187 | 178 | 171 | 17.1 | 162 | 159 | 152 150 =
389 364 334 30.5 275 26.6 255 245 228 219 21.0 21.1 19.9 19.7 18.8 175
451 | 424 | 391 | 358 | 325 | 314 | 302 | 291 | 272 | 261 | 252 | 252 | 239 | 236 | 227 200
58.1 549 51.0 47.1 43.1 41.8 40.3 39.0 36.7 353 34.1 34.2 326 322 31.0 250
719 | 682 | 636 | 59.1 | 545 | 529 | 512 | 496 | 468 | 452 | 438 | 438 | 420 | 415 | 400 300
86.3 82.1 77.0 718 66.5 64.8 62.7 60.9 57.7 55.8 54.2 54.2 52.0 515 49.7 350
1014 | 967 | 910 | 852 | 792 | 773 | 750 | 729 | 692 | 67.1 | 652 | 652 | 627 | 621 | 60.1 400
1171 | 1119 | 1056 | 99.2 92.6 90.3 87.8 85.4 814 789 76.8 76.8 74.0 733 71.0 450
1333 | 127.7 | 1208 | 113.8 | 1064 | 1040 | 101.1 | 985 | 940 | 913 | 890 | 89.0 | 858 | 850 | 825 500
fa= (ﬂ 05 C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 [ID1N 210
e 155 148 141 134 122 110 1.00 fg
90° 80° 70° 60° 50° 40° 30° 20° 0° v
25 232 1.97 1.64 140 124 1.13 1.05 1 fyv
: ----------------------- [[bah] nxp‘7 n'on' N1t oniyn NIt | Y |
KT RHCRESS
i 2 d 1 ; o
i : v é; fov= /(cos \()2 +(0,25.sin y)2 Osye
i ,25.
|
dooml K CE N e 102N N¥PY 72PN NN 270 DX PN AWNY7 W' ,90°-D N'7ITa NNTENT'RA

JID2N NPT 190 (1192 1Y NIDN 212102 AWNNnY7 Y X



fary = 1

(mm) NPTIN (11 197 101N NP TY PNIN C
(mm) 12N NXP DY 72PN R '97 DY 12 PN Sx
102N NXP7 12N 2N MIYAD 0921y 190D n

i i

3C+5S1+52+53+ ...+ 5n-1

faRv =
3nc

mm | ETAX9N'X [N 7v NIYNT

TTA 0Y'T *

D21y N¥Ip'7 *

16 | 14 | 12 | 10 8 6 [ynoip
18 | 16 | 14 | 12 9 7 NTNXINNT7927IN

mm ETA™on'X |pn 7v niwnT
30 | 27 | 24 | 22 | 20 | 18 [iyn oI
33 | 30 | 26 | 24 | 22 | 20 NTNNINAT792 71N

GG@@

|ID2N n¥p

N77927IN7 IV 2 NRXNN NN X710TP2 (1720 NXY) 21N 1017 DY NTRXIDN 17791 1IN0 DX O'XNN7 W' ,ETA 2001 'X9IT'X [N 197
JID2N NYP'7 AN N2NPN D221V NNIYA P 07'T2 2WNNNY7 72131 0221YN NNIY 22 17722 NN 12y0D N102N7 NNYOX 'Y 1IN0 17'0 IX

Vrd,cp =2. Nrd,c

Pryout 97 '7w3 2.3

(1.2 n9'7wa 7wd 2w X)) | Nrd,c |

Via= min {Vrd,p [ Vrd,c [ Vrd,s}
Vid > NIN7 11X 197w 21YN 7Y 7¥9100 DN 0NIVN

T2 7W0 Do

1, 1,
Nsd > Vsd >
<1

NRd,concrete VRd,concrete

2 2

Nsd Vsd
) ) <1
NRd,steel VRd steel

A7ivnnoniynwY77v) -3

[ayn 7y 7y9imn n97w2a on oniy

Nsd

[y 7y 7y9Imn N2 2N only

Vsd

(Nrd,c, Nrdp) DD =

N Rd,concrete

(Vrd,c: Vrd,cp) DIDIM = VRd,concrete
Nrds = NRdsteel
Vids = VRdsteel




11pna 1T

2N iR (1
.NYI2nI 1MIX XN7 DY 1IN0 NX NP7 (2

(

(
JINA 910D IDINA DX PT7 (3
.112'02 DINN NX 011917 (4
(

J'910 NIV2A"NAY7 Ty NIyY 8-12 'NDN7 (5

E—-" -
s ' 2x
AL AL vl e F I A AT ) b e nEr, . by
T ’ _..-' .0 AT AT % - if A e X a .'__ Tahak
we M50 8 J ¥, s A0 F sl wi A0 * J ¥, s JLE
o T & ., e - n F.c e A “w N )
& wrd A i Tills B Ly F A gl p -.f'_ra" '-" 3 _.-.r Filfs' §-
Ll el A Traa - P d i ) = e L e W - o

n’pn DAD NN
08490 AC500Pro 400ml
08462 CG400 1T NPT NTPX
02462 PG400 '0XP19 NPT NTPX
03462 EG400 "7nwn Nt NTpX
ATR
yield strength S:S::;fh ]_:]L;:gn DINN X DINN DIP
n779210 n"pn bRLR)
fyk fuk SW L d
(N/mm’) (N/mm?) (mm) (mm) (mm)
10 70 6 05080670 ATR 5.8 M6x70
13 110 8 05080811 ATR 5.8 M8x110
17 140 10 05081014 ATR 5.8 M10x140
17 190 10 05081019 ATR 5.8 M10x190
19 165 12 05081216 ATR 5.8 M12x165
19 220 12 05081222 ATR 5.8 M12x220
400 500 5.8
24 160 16 05081616 ATR 5.8 M16x160
24 190 16 05081619 ATR 5.8 M16x190
24 230 16 05081623 ATR 5.8 M16x230
30 260 20 05082026 ATR 5.8 M20x260
30 290 20 05082029 ATR 5.8 M20x290
36 300 24 05082430 ATR 5.8 M24x300
13 110 8 03160811 ATR SS316 M8x110
17 130 10 03161013 ATR SS316 M10x130
19 160 12 03161216 ATR SS316 M12x160
450 700 SS316 (A4)
24 190 16 03161619 ATR SS316 M16x190
30 260 20 03162026 ATR 55316 M20x260
36 300 20 03162430 ATR SS316 M24x300




ATR

yield strength s:'f::;fh nlgllgn TIX qo1p
fyk fuk sw 7179210 L d b"pn DD XN
(N/mm?°) (N/mm?’) (mm) (mm) (mm)

10 6 03761000 ATR 37 M6x1000
13 8 03781000 ATR 37 M8x1000
17 10 03710100 ATR 37 M10x1000
19 12 03712100 ATR 37 M12x1000
22 14 03714100 ATR 37 M14x1000
24 16 03716100 ATR 37 M16x1000

370 500 ST37
27 18 03718100 ATR 37 M18x1000
30 20 03720100 ATR 37 M20x1000
32 22 03722100 ATR 37 M22x1000
36 24 03724100 ATR 37 M24x1000
41 27 03727100 ATR 37 M27x1000
46 30 03730100 ATR 37 M30x1000
10 6 08861000 ATR 8.8 M6x1000
13 8 08881000 ATR 8.8 M8x1000
17 10 08810100 ATR 8.8 M10x1000
19 12 08812100 ATR 8.8 M12x1000
22 14 08814100 ATR 8.8 M14x1000
24 16 08816100 ATR 8.8 M16x1000

640 800 8.8 1000
27 18 08818100 ATR 8.8 M18x1000
30 20 08820100 ATR 8.8 M20x1000
32 22 08822100 ATR 8.8 M22x1000
36 24 08824100 ATR 8.8 M24x1000
41 27 08827100 ATR 8.8 M27x1000
46 30 08830100 ATR 8.8 M30x1000
10 6 31661000 ATR $S316 M6x1000
13 31681000 ATR $5316 M8x1000
17 10 31610100 ATR S5316 M10x1000
19 12 31612100 ATR SS316 M12x1000
19 14 31614100 ATR 55316 M14x1000
24 16 31616100 ATR SS316 M16x1000

450 700 55316 (A4)
19 18 31618100 ATR SS316 M18x1000
30 20 31620100 ATR 55316 M20x1000
19 22 31622100 ATR SS316 M22x1000
36 24 31624100 ATR S5316 M24x1000
41 27 31627100 ATR SS316 M27x1000
46 30 31630100 ATR $5316 M30x1000

.(ATR 5.8 M16x230 GG XN2IT7) I¥INN DY INX7 GG |"¥7 X1 .WNXIN NINTNA NP 30 "TI9TINAY [117'3] NIDINN NX 727 [N

ITS

—_—
yield strength tensile strength q01p
pInn DINN IR DIDN VI
fyk fuk 779210 n"pn D19 IR
2 2 m19n
(N/mm?) (N/mm°)
(mm) (mm) (mm)
8 80 12 08520 ITS M8x80
400 500 10 5.8 90 16 08522 ITS M10x90
12 110 20 08524 ITSM12x110

(ATR 5.8 M16x230 GG XD2IT7) IXIDN DY INX7 GG |"X¥7 X1 .WXIN NINTNA [1N{2'D 30 2ITI9ITINA0 [17'22 NIDINN NX 72p7 |N1




AC500Pro + rebar

Brandname of CHEMFIX Pure Epoxy 1-1

NIV NIYpr79X
i (b2 -
1
['T7T2/XIp apiva .
01X
NID'X -
n""OXN
10PIDN PAT -
compressive strength: 88.56
European [N - Fire Resistance :Tlnrir-;r.: Soge flexural strength: 52.793 .
& Classification : ;
™ 0756-CPD-0575 ANEE 5 ©
Approval e R120 reportin:fc.oLancelwith ETA denSIty. 1’42kg/dm
E-Modulus: 7267 «
VOC Content: A+ Rating -
BS6920 VOC CLASSIFICATION*
1PN
FOR USEWITH T2 / \ NN
Q POTABLE WATER mnN2 CNnNJ | aawon e 1B ©

12721 pITO [ID27 TVIM = I:l

(25-2 jI02) TTI2 J]A1Y'7 D'ONIY N'72D

| @40 | @36 | @32 | @28 | @25 | @22 | @20 | @18 | @16 | @14 [ @12 [ @10 | @8 | Y111 01

564.6 |404.0 (404.0|289.1(236.6(211.7|187.8(164.8|142.8(111.9| 83.7 | 58.3 | 50.5 Nrk,cone
440.0|339.4|301.6(211.1|176.0{151.3({128.5|113.8| 85.5 | 65.2 | 47.5 | 34.6 | 25.2 Nrk,adh no'7y w0 only
693.8563.2|442.0|338.7|270.0{208.3|173.0{139.5|111.0| 84.4 | 62.0 | 43.0 | 28.0 Nrk steel "1"9IX -
346.9(281.6|221.0(168.8(/135.0|104.5| 86.6 | 70.0 | 55.5 | 42.5 | 31.1 | 21.5 | 14.0 KN Vik mm 3
209.5(161.6(143.6|100.5| 83.8 | 72.1 | 61.2 | 54.2 | 475 | 36.2 | 26.4 | 19.2 | 14.0 Nrd no'7v E
231.3(187.7(147.3|1125| 90.0 | 69.7 | 57.7 | 46.7 | 37.0 | 283 | 20.7 | 143 | 93 Vid mm oy =
149.6|115.4|102.6| 71.8 | 59.9 | 51.5 | 43.7 | 38.7 | 33.9 | 25.9 | 18.9 | 13.7 | 10.0 Nrec no'7y \70In only
165.2|134.1|105.2| 80.4 | 64.3 | 49.8 | 41.2 | 33.4 | 26.4 | 20.2 | 14.8 | 10.2 | 6.7 Vrec mm nn'w only
402.5|288.0(288.0(206.1|168.7 [150.9(133.9|117.5({101.8| 79.8 | 59.6 Nrk,cone

180.4]139.1(123.6| 88.6 | 75.7 | 66.6 | 56.5 | 52.3 | 40.2 | 33.2 | 26.1 Nrk,adh N7y Yy ony
693.8563.2|442.0|338.7|270.0{208.3|173.0{139.5|111.0| 84.4 | 62.0 Nrk steel "1"9IX
346.9(281.6(221.0|168.8(135.0|104.5| 86.6 | 70.0 | 55.5 | 42.5 | 31.1 Vik mm 5
859 | 66.3 | 589 | 42.2 | 36.0 | 31.7 | 269 | 249 | 223 | 185 | 145 - - N Nrd no7y g_
231.3(187.7(147.3|112.5| 90.0 | 69.7 | 57.7 | 46.7 | 37.0 | 28.3 | 20.7 Vid mm bR ony

614 | 473 | 421 [ 30.2 | 25.7 | 226 | 19.2 | 17.8 | 159 | 13.2 | 104 Nrec no'7y X700 only
165.2(134.11105.2| 804 | 643 | 49.8 | 41.2 | 334 | 264 | 20.2 | 14.8 Vrec mm nn'w only

500 | 400 | 400 | 320 | 280 | 260 | 240 | 220 | 200 | 170 | 140 | 110 | 100 hnom 7M1 Mmpnn poiy

50 | 44 | 40 | 35|30 | 27 | 25| 22|20 | 18| 15| 12| 10 [mm do nmp o | &
80 | 80 | 80 | 80 | 60 | 60 | 50 | 50 | 40 | 40 | 30 | 30 | 30 NITH PRIY7 12Y0 *7XNDDD (102 121y E
442 | 251 | 226 | 139 | 76 | 63 | 53 | 35 | 28 | 21 1 5 4 | ml (25% 7w NN9 '7712) AN / 0IN NIN2 E
09 |16 |17 | 28 | 52|62 |74 |113|138]| 18 | 35 | 80 | 100 7' 400 N7190X7 0NIN NINJ

: DOPrao Jok:



N1 Nlpna pnly 197 [IDAN AXPD D'PNINDID'AYA 20PN n'7ap

200 170 150 140 130 110 100 80 heff [y Mpnn pRiy
400 340 300 280 260 220 200 160 Sopt 02210 2 'IRDID9IX PN
100 85 75 70 65 55 50 40 mm Smin D221YN 127X PNn
300 255 225 210 195 165 150 120 Copt (IDAN AYPD HFXDIDDIX PRID
100 85 75 70 65 55 50 40 Cmin [ID2N NXPR 7K' PRI
500 450 400 320 280 260 240 220 heff [ty mpnn poiy
1000 900 800 640 560 520 480 440 Sopt 07210 2 “7R09IX PRID
250 225 200 160 140 130 120 110 mm Smin 0221y 2 '7X0'2'0 Pan
750 675 600 480 420 390 360 330 Copt [ID2N N¥PR '7XDDBIX PN
250 225 200 160 140 130 120 110 Cmin [102N N¥PN 78R PNIN
.N19"7921 1 DDA DI'A DMYXDIDIIND D'PNINN .D'0RIY NNN9NA 0311 DY7XD''DA D'PNINA
Ay ‘72 miwr 197 2WN7 W TXNIWDDIX PNIN 'Y ,N1Ta N7120N 2107
niy" 197 |alyn YN
("ETAG Bonded Anchor" |j7n '97 nbwam 21w'nN NIY)
nnyn
NN'Y/0I7nin/nYin'y 0roniy '97 X71 design [2N '0NIY '9'7 0M21YN NX 0'AvNnD ETAG-N 197 -
D0'AYND [20 INX7,[31IVN IRIN NYNp (1020 001 ,"Pull-out” N9'7w2 7w1 1210 3 '97 |21lyn NX DAWND -
71WNN 7U20 NX 0TI 91021 pry-out-1 [AIYN IDIN NYAR,[ID2N ¥ 11122 7WD 1210 3
n9'7wa 7w -1
Nrdp = N°rd,p .fg.fr.fan.fRn ~ "COMBINED PULL-OUT" 97 7w 1.1
.
I Pull-out N9'7w2 piyn 7w *7x301 2N PTIN Nord,p
1 B [ID2N 210 NYSWN 01D fa
MpNn PRy NYown 0T fr
omyn apnmnyawnoTm | fan
102N NXPR PNID NYSWN 07D fan
40 36 32 28 25 22 20 18 16 14 12 10 8 [ayn o Nord,p
500 | 400 | 400 | 320 | 280 | 260 | 240 | 220 | 200 | 170 | 140 | 110 | 100 | mm hnom MID19NY | |ID22I0
2095 | 1616 | 1436 | 1005 | 83.8 | 72.1 | 61.2 | 54.2 | 475 | 36.2 | 264 | 192 | 140 2D WA - PITO X7 102 24°/ 40°
1320 | 101.8 | 90.5 | 65.3 | 59.5 | 54.8 | 49.0 | 444 | 404 | 315 | 238 | 18.0 | 140 ' NN - PITO X7 [ID2 a
1236 953 | 847 | 603 | 503 | 432 | 373 | 33.6 | 295 | 228 | 16,6 | 125 | 94 N 2D W' - PITOXT 1D 43°/60° J%
985 | 76.0 | 675 | 553 | 469 | 41.1 | 355 | 320 | 28.0 | 21.7 | 16.1 | 123 | 9.1 ' NN - PITO X7 [ID2 2
1110 | 856 | 76.1 | 543 | 46.1 | 404 | 343 | 303 | 26,6 | 206 | 150 | 11.1 | 84 2D WA - PITO X7 102 60°/ 72° =
859 | 663 | 589 | 43.2 | 37.7 | 33.1 | 288 | 26,5 | 23.8 | 188 | 140 | 108 | 8.1 ' NN - PITO X7 [ID2
859 | 663 | 58.9 | 422 | 360 | 31.7 | 269 | 249 | 223 | 185 | 145 2D W' - PITO 1D 4%/ 40°
733 | 56.6 | 50.3 | 36.2 | 31.8 | 28.1 | 245 | 222 | 20.0 | 17.7 | 145 D'NN - PIT0 |12
482 | 372 | 33.0 | 23.1 | 20.1 | 180 | 159 | 146 | 133 | 105 | 7.9 2D WA - PITO 1D 0, .0 é'
46.1 | 356 | 31.6 | 221 | 193 | 173 | 153 | 141 | 128 | 103 | 7.9 ) - . ' NN - PITO |12 3760 ,E_
46.1 | 356 | 31.6 | 23.1 | 20.1 | 180 | 153 | 141 | 124 | 101 | 7.9 207 W' - PITO 1D 60%/72°
46.1 | 356 | 316 | 23.1 | 193 | 17.3 | 147 | 135 | 124 | 101 | 7.9 ™' NN - P70 152
20d > hefr 2 4d Ty (mm) pynnpnapoly | heff et
(mm) ‘7m0 mpnn oy | hnom " hnom
C50/60 C45/55 C40/50 (35/45 C30/37 C25/30 C20/25 C15/20 [ID2N 10
1.1 1.09 1.08 1.06 1.04 1.02 1.00 0.98 fg
: : DOPrao PG




(o]
Nrd,c =N rd,c. fs . fan

.frNn

[Ib2n onIp 197 '7wd 1.2

- Dayn apminnyawnotpn | fan D37 oI 197 na7wa piyn N P prin | N
lban Axpn pmn nyswnoTpn | fry fIvanao nyswnoTpn | fa
NCc=7,2.25"° (he) > /1500  promay NOc=10,1.25" . (her) "> /1500 170 X7 1027
kN Nrqc
220 200 170 140 120 110 100 80 mm heff
109.9 95.2 74.6 55.8 443 388 337 241 PITO X7 102
783 67.9 53.2 39.8 31.5 27.7 24.0 17.2 PI70 |ID2
500 450 400 400 320 280 260 240 mm heff
376.4 3214 269.3 269.3 192.7 157.7 141.1 125.2 PITO X7 102
268.3 229.1 192.0 192.0 1374 1124 100.6 89.2 170 |ID2
fk 05 C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 |Ib2n 210
fo= (E ) 1.55 1.48 141 134 1.22 1.10 1.00 fg
1027 NN TN | fek
01 2 2 PRn NYawn 00 fan
500 400 320 280 260 240 220 200 170 140 120 110 100 |he s
0.53 0.54 0.55 0.55 0.56 0.56 0.57 0.58 0.59 0.61 0.63 0.64 0.65 60
0.54 0.54 0.55 0.56 0.57 0.57 0.58 0.59 0.60 0.63 0.65 0.66 0.68 70
0.54 0.55 0.56 0.57 0.58 0.58 0.59 0.60 0.62 0.64 0.67 0.68 0.70 80
0.55 0.56 0.57 0.58 0.59 0.59 0.60 0.61 0.63 0.66 0.69 0.70 0.73 90
0.55 0.56 0.58 0.59 0.60 0.60 0.61 0.63 0.65 0.68 0.71 0.73 0.75 100
0.56 0.58 0.60 0.61 0.62 0.63 0.64 0.66 0.68 0.72 0.76 0.78 0.81 125
0.58 0.59 0.62 0.63 0.64 0.66 0.67 0.69 0.72 0.77 0.81 0.84 0.88 150
0.60 0.63 0.66 0.68 0.69 0.71 0.73 0.75 0.79 0.86 0.92 0.95 1.00 200
0.61 0.64 0.67 0.70 0.71 0.73 0.75 0.78 0.82 0.89 0.96 1.00 220
0.63 0.66 0.70 0.72 0.74 0.76 0.78 0.81 0.87 0.95 1.00 250
0.65 0.69 0.73 0.77 0.79 0.81 0.84 0.88 0.94 1.00 300
0.68 0.72 0.77 0.81 0.84 0.86 0.90 0.94 1.00 350
0.70 0.75 0.81 0.86 0.88 0.92 0.95 1.00 400
0.75 0.81 0.89 0.95 0.98 1.00 1.00 500
0.80 0.88 0.97 1.00 1.00 600
0.85 0.94 1.00 700
0.90 1.00 800
1.00 1000
faN=0,5+ ﬁ 12 pmp nyawrlljz;rlzg fan TIN7 DN TP NX 7'9207 Wt *
) JPOINIX DIX |11 197 TN IN @ @
X1 iy 12 pnn
Xo piyi $1-2 faN=fans1-2. fans1-3
S13
® @
A DOPrao o) 40




[ID20 NP PNIN NYawn DTN fRN

Nrd > NIN7 X 197w |21VN 7Y 7y9I0N (2N ODIYR

540 480 400 320 240 170 140 130 110 100 90 70 heff C
0.72 0.72 0.73 0.73 0.74 0.76 0.77 0.78 0.79 0.80 0.81 0.84 50
0.73 0.73 0.74 0.74 0.76 0.78 0.80 0.81 0.83 0.84 0.86 0.90 70
0.73 0.73 0.74 0.75 0.77 0.79 0.81 0.82 0.85 0.86 0.88 0.93 80
0.73 0.74 0.75 0.76 0.78 0.81 0.83 0.84 0.86 0.88 0.90 0.96 90
0.74 0.74 0.75 0.76 0.78 0.82 0.84 0.85 0.88 0.90 0.92 0.99 100
0.75 0.75 0.76 0.78 0.80 0.85 0.88 0.89 0.93 0.95 0.98 1.00 125
0.76 0.76 0.78 0.79 0.83 0.88 0.91 0.93 0.97 1.00 1.00 150
0.76 0.77 0.79 0.81 0.85 091 0.95 0.97 1.00 175
0.77 0.78 0.80 0.83 0.87 0.94 0.99 1.00 200
0.79 0.80 0.83 0.86 0.91 0.99 1.00 250
0.81 0.83 0.85 0.89 0.95 1.00 300
0.85 0.87 0.90 0.95 1.00 400
0.89 0.91 0.95 1.00 500
0.92 0.95 1.00 600
0.96 1.00 710
1.00 800
fen=07402- S (mm) o wpmn | | D'DTPRN NX 719307 Wt E &
heft .00 737 TN IX TINY i é
ID2N PO PIY XPATT i e
fan = fRny - fanz i ’ il
| »
|« o
1 ID2n ¥ [ L
Nrd,s = Nrk,s/ Ysn jynmina'7vd 1.3
@40 | @36 | @32 | @28 | @25 | @22 | @20 | @18 | @16 | @14 | @12 | @10 | @8 mm | 712701p
1257 | 1018 | 804.2 | 615.8 | 490.9 | 394.5 | 3142 |257.65| 201.1 | 153.9 | 113.1 | 785 | 503 | mm? As
kN Nrd,s
220 218 216 214 212 @210 a8 mm 711701
Y = 1236 100.0 79.3 60.7 443 30.7 20.0 ST500 |17 7112
-ofl s
kN Nrd,s
@40 @36 @32 @28 @25 222 mm 712 701p
546.3 4435 3157 2258 1929 149.3 ST500 |17 7112
Nra =min {Nra,c, Nrg,p , Nra,s} N9'7wa 7o DId'o




MMy -2

Vrd,s =Vrik,s/ Ysv jyn 0N ‘7w 2.1
= .... = kN Vid;s
i y ! @20 218 216 214 212 @10 @8 mm 711701
57.7 46.7 37.0 28.3 20.7 143 9.3 ST500 |17 7112
kN Vrd,s
240 236 @32 228 @25 222 mm 712 0I1p
2313 187.7 1473 1125 90.0 69.7 ST500 |1t 7112
Vid,c= Vord,c fa.fyv.farv [ID2n n¥p 197 ‘7w 2.2

ADIT 0TIND DY WP X' X70ID ,N¥PAN DY TIXD D'PRIN NN 2 W' NTH]

0
mmapyn 7w mn pnptn | Vide

(Ib2N 210 NY9wn 0T fs

JID2N DX 121 7y9100 NIDN I |2 NIt NYsYn DTN fy,V

DIV 2 PN0IIDIN NXPR pnn nyswn oTpn | faRy

(mm) 711201 d

(mm) pynnmpnnpoly | heff

(mm) |Ib2n N¥pP TV PN C
a=0,1. (her/c) >
B=0,1. (d/c)O’2 Vord,c =[24.d% heffB . 250’5 7 1/1500 11O X7 1027
kN Wl
240 | @36 | @32 028 225 222 220 218 | @16 | @14 | @12 210 28 711701
500 400 400 320 280 260 240 220 200 170 140 110 100 | heft c

19.13 | 16.11 | 1543 | 1317 | 11.96 | 11.15 | 10.51 9.88 9.26 851 7.78 7.05 6.62 60

21.89 | 1865 | 1791 | 1544 | 1411 | 13.21 | 1250 | 11.80 | 11.11 | 10.26 | 942 8.60 8.10 70

2473 | 21.26 | 2046 | 17.79 | 1634 | 1536 | 1457 | 13.79 | 13.03 | 12.08 | 11.15 | 1023 | 9.66 80

27.64 | 2394 | 23.09 | 20.22 | 1864 | 1757 | 16.71 | 1587 | 15.03 | 13.99 | 1296 | 11.93 | 11.30 90

30.62 | 26.70 | 25.78 | 22.71 | 21.01 | 19.86 | 18.93 | 18.01 | 17.10 | 1596 | 14.83 | 13.70 | 13.00 100

33.67 | 29.52 | 2854 | 25.27 | 2345 | 2221 | 21.21 | 2022 | 19.23 | 18.00 | 16.78 | 1554 | 14.78 110

3835 | 33.86 | 32.80 | 29.22 | 27.23 | 25.86 | 24.76 | 23.66 | 22.56 | 21.19 | 19.81 | 1843 | 17.56 125 5_'
43.16 | 3834 | 3719 | 3332 | 31.14 | 29.65 | 2844 | 27.23 | 26.02 | 24.51 | 22.99 | 21.45 | 20.49 140 E
46.44 | 41.40 | 40.18 | 36.11 | 33.82 | 3225 | 30.96 | 29.68 | 2840 | 26.79 | 25.18 | 23.53 | 22.50 150 =
5487 | 49.27 | 4791 | 4335 | 40.77 | 3897 | 3752 | 36.06 | 34.59 | 32.75 | 30.88 | 28.98 | 27.79 175

63.61 | 57.46 | 55.96 | 50.90 | 48.03 | 46.03 | 44.40 | 42.76 | 41.11 | 39.03 | 3691 | 3475 | 33.39 200

8197 | 7472 | 7292 | 66.90 | 6344 | 61.01 | 59.03 | 57.04 | 55.02 | 5246 | 49.85 | 47.16 | 4546 250

101.39 | 93.06 | 90.97 | 83.97 | 79.93 | 77.08 | 7475 | 7240 | 70.00 | 66.97 | 63.86 | 60.63 | 58.59 300

121.78 | 11238 | 109.99 | 102.03 | 97.41 | 94.14 | 9145 | 88.74 | 8597 | 8246 | 78.84 | 75.08 | 72.68 350

143.08 | 132.61 | 129.93 | 121.00 | 115.80 | 112.10 | 109.07 | 105.99 | 102.85 | 98.85 | 94.72 | 90.41 | 87.66 400

188.20 | 175.58 | 172.32 | 161.46 | 155.09 | 150.54 | 146.80 | 142.99 | 139.09 | 134.11 | 128.96 | 123.54 | 120.06 500
236.37 | 221.63 | 217.77 | 204.98 | 197.43 | 192.02 | 187.57 | 183.02 | 178.36 | 172.39 | 166.18 | 159.64 | 155.43 600
313.81 | 295.87 | 291.12 | 275.43 | 266.10 | 259.39 | 253.85 | 248.18 | 242.36 | 234.88 | 227.07 | 218.81 | 213.46 750

: DOPrao Jok: 4



Vord,c =[17.d% heffB 2599 1® 1/1500 170 |ID27
kN Voide
240 | 936 @32 @28 | @25 222 220 | 218 | @16 214 | 212 210 28 7T1701p
500 | 400 | 400 | 320 | 280 | 260 | 240 | 220 | 200 | 170 | 140 | 110 | 100 |he c
1355 | 1141 | 1093 | 933 | 847 | 790 | 744 | 700 | 656 | 603 | 551 | 500 | 4.69 60
1550 | 13.21 | 1268 | 1094 | 999 | 936 | 885 | 836 | 7.87 | 7.27 | 667 | 609 | 573 70
17.52 | 1506 | 1449 | 12.60 | 11.57 | 10.88 | 1032 | 977 | 923 | 856 | 7.90 | 724 | 684 80
19.58 | 1696 | 1635 | 1432 | 13.20 | 1245 | 11.84 | 11.24 | 1064 | 991 | 918 | 845 | 800 90
2169 | 1891 | 1826 | 16.08 | 14.88 | 1407 | 1341 | 1276 | 1211 | 1131 | 1051 | 971 | 921 100
2385 | 2091 | 2022 | 17.90 | 16.61 | 1573 | 15.03 | 1432 | 1362 | 1275 | 11.88 | 11.01 | 1047 110
27.16 | 23.99 | 23.23 | 2070 | 1929 | 1832 | 17.54 | 1676 | 1598 | 15.01 | 14.04 | 13.05 | 1244 125 g
3057 | 27.16 | 26.34 | 2360 | 22.06 | 21.00 | 20.14 | 19.29 | 1843 | 17.36 | 1628 | 1519 | 1451 140 e
3290 | 29.32 | 2846 | 2558 | 23.96 | 2284 | 21.93 | 21.03 | 20.12 | 1898 | 17.83 | 1667 | 15.94 150 =
38.87 | 3490 | 33.94 | 3071 | 28.88 | 27.61 | 26,58 | 2554 | 2450 | 2320 | 21.88 | 20.53 | 19.68 175
4506 | 40.70 | 39.64 | 36.06 | 3402 | 32.60 | 3145 | 3029 | 2912 | 27.64 | 26.15 | 2461 | 23.65 200
5806 | 5293 | 51.66 | 47.39 | 4494 | 4322 | 41.82 | 40.40 | 3897 | 37.16 | 3531 | 33.40 | 3220 250
7181 | 6592 | 64.43 | 59.48 | 56.62 | 54.60 | 5295 | 51.28 | 4959 | 47.44 | 4523 | 4295 | 41.50 300
8626 | 79.60 | 77.91 | 7227 | 69.00 | 6668 | 64.78 | 62.86 | 60.90 | 58.41 | 55.85 | 53.18 | 51.48 350
10135 | 93.93 | 92.03 | 8571 | 8202 | 79.41 | 77.26 | 75.07 | 72.85 | 70.02 | 67.10 | 64.04 | 62.09 400
13331 | 12437 | 122,06 | 114.37 | 109.85 | 106.63 | 103.98 | 101.28 | 9852 | 95.00 | 91.34 | 87.51 | 85.04 500
167.43 | 156.99 | 154.25 | 145.20 | 139.85 | 136.02 | 132.86 | 129.64 | 12634 | 122.11 | 117.71 | 113.08 | 110.09 | 600
222.28 | 209.58 | 206.21 | 195.09 | 188.49 | 183.73 | 179.81 | 175.79 | 171.67 | 16637 | 160.84 | 15499 [ 151.20 | 750
oo (1 105 C50/60 | (C45/55 | C40/50 | C35/45 | C30/37 | C25/30 | C20/25 (1D 210
= 155 148 141 134 122 1.10 1.00 fg
90° 80° 70° 60° 50° 40° 30° 20° 0° y
25 2.32 197 164 1.40 124 1.13 1.05 1 fov

102N N¥PT N'ON! NI ORIV DT | Y |

ID2N NP

1
fyv= / 2 ) 0"<y<90
(cosy)” +(0,25 -siny)

JID2N NXP'Y7 712pPN NIDN 20 DX PR AWN7 W ,90°-p N7ITa NIt ATMA

----------------------- [ID2N N¥PT7 190 112 1Y NIDN 22102 AWNNAYT TIX X

fary =1 TTIA PIY'YT *
1 *
(mm) NP Tan 1 197 102N N¥P TY pNIn c . 3C+51 452453+t St 0221y N¥Ip'7
ARV =
(mm) |Ib2N NY¥P DY 73P0 1 '97 DAAYN 2 PN Sx 3nc
[ID2N N¥P7 NANP DN NIYAD 021y 1900 n

S1 Sn-1

DD DD

(102N NXP

: A DOPro R




Vrd,cp= 2. Nrd,c Pryout 97 7w3 2.3

| (1.2 27w 7wd 2w X)) | Nrd,c |

Vrd = min {Vrd,p 7 Vrd,c 7 Vrd,s} Mt '7\!/3 o
Vid > NIN7 11X 197w 21YN 7V 79100 DN 01V

A71vnnoniynw77vwI -3

I[ID2-]IL2 IX NT79-NT79 INDI72,”210” INIXN N1TA/N9'7Y 'ONIY 7V 2I7'Y D'aYND

YN 7V '7¥9I0N N9'7w1 |20 ONIy Nsd
Nsd )1’1 ( Vsg )1'5 <1 | !
NRd.concrete VRd,concrete = [ayn 7y 7y91inin N1 an onty Vsd
Nsd )2 +( Vsd )2 <1 Nrd;s = NRd steel
NRd,steel VRd,steel - Vids = VRd steel

1lpna 1T

AN nTp7 (1
YD1 MIX XNT DY 1NN DX N7 (2

(

(
21NN 9100 IDINA DX 7777 (3
212'02 |I'T 77120 DX 010n7 (4
(

J'910 NIW2"NANY7 Ty NIyw 8-12 'Nnn7 (5

n'pn 019 XN

08490 AC500Pro 400ml
08462 CG400 2T NPT NTPX
02462 PG400 'uXn1I9 NIt NTPX
03462 EG400 "7nwn npt NTpx

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702

: DOPrao Jok: 44



